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(a)

(b)

2

Other than Wayne and Cheryl, identify two stakeholders in Wayne’s Gardening Services
(WGS).
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What is meant by a sole trader business?

.............................................................................................................................................. [2]
(c) State three problems associated with operating a business as a sole trader.
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.............................................................................................................................................. [3]
(d) What is meant by a franchise?

.............................................................................................................................................. [2]
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(e) Evaluate the benefits and drawbacks to Wayne of buying a franchise as a method of setting
up in business.

[Total: 21]
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Wayne had estimated that the work undertaken for Mr Jones would take him and Charlie two days
at eight hours per day. For this work Charlie would be paid £7.50 per hour and Wayne would need
to hire equipment at £100 per day for two days.

(a) Using this information complete the budget statement below. [3]

Iltem Budget Cost (£)

Hire of equipment

Consumables (petrol) 20

Payment to Charlie

Total cost

(b) Calculate Wayne’s expected profit on the £500 that he charged Mr Jones for undertaking this
work. 2]

Show your working:

Answer: £ ...

(c) State two items that Wayne should have included in his calculation but which he omitted from
his budget statement in part a.
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(d) In practice the work took four days, the equipment was needed for all four days, Charlie
worked a total of 34 hours and the cost of petrol was £36.

Calculate the:

(i) profit or loss made by Wayne on this job; (4]

Show your working:

(ii) total profit variance. 2]

Show your working:

Answer: £ ...,
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(e) Cheryl is trying to persuade Wayne to purchase a personal computer to improve the

administration of his business.

Using the table below, identify for a small business such as WGS:

e three ways in which ICT could be used;

e three advantages of using ICT;

e three costs associated with the introduction and use of ICT. [9]
Three ways in which ICT could be used 1
P2,
K J
Three advantages of using ICT 1
2. e,
R 2,
Three costs associated with the introduction
1
and use of ICT
P22
R .
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3 As part of his plan to expand the business, Wayne decided to lease a new van on a long-term
basis in order to store and transport equipment.

(@) What is meant by the term ‘leasing’?
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(c) (i) Complete the following cashflow statement/forecast. [6]

(ii*) Evaluate possible solutions for the cashflow problems facing WGS.
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Wayne decides to go ahead with the plan to lease a new van. This involves a cash outflow of £200
per month payable on the first of each month starting in February 2008.

(d) Calculate the new closing balance at the end of March 2008. 2]

Show your working:

Answer: £ ...ooviiiiin

[Total: 31]
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4 (a) (i) Identify and describe two ways in which a change in the political environment could
affect Wayne’s business.

LA 2 R

(ii) Identify and describe two ways in which a change in the social environment could affect
Wayne’s business.
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(b) What is meant by each of the following terms:
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(c) Evaluate the extent to which WGS is likely to be affected by changes in economic
conditions.

[Total: 26]
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If you use these lined pages you must write the question number next to your answer.
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